
Let, K⃗FG be force on body ‘A’ due to body ‘B’ and K⃗GF be force on body ‘B’ due to body ‘A’ (during 
collision), Then from newton’s 2nd law of motion, 
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Similarly, 
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Next, from Newton’s 3rd law of motion, 

	K⃗FG = −K⃗GF   ; −#&	sign indicated the opposite direction 
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∴ 8JOJ +8&O& 	= 8J9J +8&9& 

Therefore, 

 íVNUP	8V8RÖNO8	ìRWVTR	àVPPâQâVÖ	 = íVNUP	8V8RÖNO8	UWNRT	àVPPâQâVÖ 

Thus, the principle of conservation of linear momentum is verified using Newton’s 2nd and 3rd laws of motion. 

§ In the absence of net external force, the total momentum before the collision is equal to the total momentum 
after the collision. 

 

 

 

 

 

 

 

 

 

 

 

 


